B577=AhJLT—24 / Technical Datall

#E{ThILY / Recommended torque: 0.3N=m ~ 0.6N*m

77

FIZE / Product Number

AUR

H~F &

H dimension

D~F%

D dimension

W=t %k

W dimension

EX (P /H)

Screw (P or H)

B

Color Type

& fE R4E#k / Original trapezoid head screw specification

&

©

[P] 75X / Phillips

75f / Hexagon—socket

8 {L#% / Color Type

¥ERINZ / Components

No. 2 FR / Part name #= / Pcs ME / Material £ - REAIE / Color+Finish
1 WFEMAFTIUTSrvE 9 FILES L XX ADC12 DIN— TSy - BE (REENIE)
Handle corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) a—F—7JAvy ) TILES A ¥ X ADC12 DIVIN—, TSuy - EE (NEMELE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
3 AR ) 7 LS A6063S-T5 DIWIN—, TZ9T T ILIA D) TR
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
. IL—L4 . TILEHH# A6063S-T5 DW= TSV TILIAND T
Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
s IR ) 7ILEER A1100P DIiIN— TS5V TILIAb
Panel Aluminium A1100P Silver , Black*Anodized
6 H8— ! 7 ILSHR A1100P DIIN—, TS99 FILIAH
Top cover Aluminium A1100P Silver , Black*Anodized
; THhi— | 7 ILSHR A1100P DIiN— TS5V TILIAb
Bottom cover Aluminium A1100P Silver , Black*Anodized
8 JLE A AT L ITovy
Ruber feet Rubber Black
9 H{TE X (M3 x 8) . % i ILAYFE
Screw (Flat head M3 - 8) Steel Nickel plated
10 B{FTER (E#M3 x 5) 1 % ZoirLAYE | ZlE/AA—k
Screw (Trapezoid head M3 — 5) Steel Nickel plated , Black trivalent chromate
®
9
4
oL
N
2
“ N>
5
mn /Title A —
(= S = . r\
TAKACHI] #HARHINFERIR SyhTHURr—2 O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. 19” Rack Mount Paneled Enclosure
= £ |
72/ Approved 1% X]/Checked #[X/Created #1Z% /Product number RE/Scale
iR E A AUR177-43-250-000

R—/Page

588 / Code | a—3—7Av% / Corner block {84 / Frame INAIL / Panel $H/3— / Top cover T5H/3— / Bottom cover
S Ss < JLsN— / Silver < JLsS— / Silver < JLsN— / Silver < )LsN— / Silver < JLsN— / Silver
S B 735v% / Black 2 JLs3— / Silver < JLsN— / Silver < )LsN— / Silver < JLsN— / Silver
B S 75v9% / Black 759% / Black < )Li— / Silver 757 / Black 75v% / Black
B B 7594 / Black 759% / Black 75v% / Black 7594 / Black 735v% / Black

YER B /Date

2024/09/02

177

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




E view

B-B(1:55)
™
o
N
383
D view
=
<
o
x
1L
~
E.\;
o’
=~
T
L
o
= =3
+H
~
~
D(1:3)
LO pr—
< len)
[Te) /.
o
©

leo)

\uurt

B

u

595
55

__18 4-RI%6.5% 11

A s “ A-A(1:55) C-C(1:55)
g _ I
C ] S RS S
e 2
. . ,E ERE——— i A=\l
236 422
A view C view B view
. 466 . 250105 (7—R5} 2 / External)
B
482 2775
F view
A ..%
(o) (o)
OO o o..} 4/ Title
TAKACHI] B FhFEHRIE FYIIVURTILEY YO —X () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE
430%0.8 (7—R4} 12 / External) 722 /Approved 1% X]/Checked #[X/Created FIZ /Product number RE/Scale
' 1:5.5
iR F @A AUR177-43-250-013 pg— =
2024/07/02 2 /1

YER B /Date

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C f|#x / C Frame 200

176

14,

2-M3FH SR
M / Front side 2-M3 Countersunk
¥ xIEEHFEFR / Same on the other side.

D {8I#& / D Frame

iﬁ / Front Side E——ﬁ

169.7

225
[9p]

-vl_———\" —
©
™
©
™

p :E
(9]

==Y

—

Z @ / Back side

S M / Back side

m/Title
BASHINTFERTE IR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7R/ Approved & /Checked #1[X]/Created #IF /Product number RE/Scale
iR 3 A __
> /Page
H177 - D250 1R B /Date 2024/05/15 3 /1

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




22.5

380 68 2
| 10
<
1.6
<t ﬁ::‘
£\ i Y
< \//]
C”!
o~
M3 5 3 3.3

2-M3FAH I}
2-M3 Countersunk

T4 / Total 4 pieces

4/ Title
BRARUINTFERTE TL—Ls O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
7R/ Approved & /Checked #1[X]/Created #IF /Product number RTE/S:aZIe
iR x FES o
W430 1R B /Date 2024/05/15 4 /7
AREOEFEEIIHRASHIDTFERITRITRBBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\ARJL / A Panel

380

166

B#hti% / Max dim. 158 £ 0.5

B#~TiE / Max dim. 372 £0.5

3R / Front side

B /A2 )L / B Panel

3R / Front side

REE—HA

Surface protective film side

REES—A

Surface protective film side

ZZM / Back side

ZZ M / Back side

a4/ Title
TAKACHI] HX&ahFERTE RES O ]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 2%/ Approved 1% X]/Checked #[X/Created #17 /Product number RE/Scale
1:3
chif 2 GES —
H177 — W430 e B /Date 2024/05/15 5 /7

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4194

6-24.5

4-R14.7 400
<
: o
3 Q

BH#~Ti% / Max dim. 203+£0.5

M / Front side

B#h~ti% / Max dim. 383+0.5

fREES — A

Surface protective film side

ZZM / Back side

o
\

a4/ Title
TAKACHI] #R2HNTFERTE 57— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 2%/ Approved #&[X/Checked #[X/Created #17 /Product number RE/Scale
1:4
iR £ ESZ o) ~R—/Page
W430 - D250 e B /Date 2022/11/16 6 /7

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4194

6-24.5

4-R14.7 400
<
: o
3 Q

BH#~Ti% / Max dim. 203+£0.5

M / Front side

B#h~ti% / Max dim. 383+0.5

fREES — A

Surface protective film side

ZZM / Back side

o
\

a4/ Title
TAKACHI] #RX&#tshFEHTE RHs8— {} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
Bl S S RE/SCaE
7 2%/ Approved #&[X/Checked #[X/Created #17 /Product number
1:4
iR £ ESZ o) ~R—/Page
W430 - D250 e B /Date 2022/11/16 7 77

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	AUR177-43-25□..pdf
	シートとビュー
	AUR177-43-25□-□□-モデル


	AUR177-43-25□-□□.pdf
	シートとビュー
	2
	3
	4
	5
	6
	7



